TV LA TS
FHERARA L —A

DID NOT START [1st RUN]
47 71280 ¥R &

DID NOT FINISH [1st RUN]
DISQUALIFIED [1st RUN]
DID NOT START [2nd RUN]
DID NOT FINISH [2nd RUN]
DISQUALIFIED [2nd RUN]

27-03-2010 / 1 FB DX F A X —F

b4

M7 B Ve e (L T
455804 PNELR
NN AE SR
Tall— T =N T—H
Btz (ERE T [l B ] a—24
K DA K A5 = — A
F5k HH O&RH (5 50] 2K — i 1502m
T4 =y v o LS 1213m
ks & d=bry wo B [3%0] 2 289m
REBT A — =3 No. SAJ22-GS-51/91
1AH 2 K H
a—At vy H— wlE HE (%550 ] a—RAyH— AN —ER
ISR - A - e AIEH - A - i
AiE#H - B - K AiE#H - B - K-
AiE# - C - P AiE# - C - A
TR 39 (39) A — 8:45 % 39 (39) 2 — IR 11:40
KA BN =8 Hard KA BN =8 Hard
2B —K/T 4=y a kiR -2.8C / -1.5C 2B —K/T 4=y a kiR 4.6°C / 6.7C
F=880
JIEAE A%—b -b EEE 1AKH 2AKBH & F L—2x
No No K4 4 Bt B 4 1L L I 5 H%E il AA b
1 48 136752 =B HET B HmpE 1:18.27 1:20.50 2:38.77
2 49 35580 AN HTX B | i 1:19.48 1:20.06 2:39.54

G8/ 1

DATA PROCESSING by SE I KO

TIMING by SET KO



TV LA TS
FHERARA L —A

M7 B R vy 1L
355 0h B PNELR
V:iy“— T =N T—H
iz (ERE T (R B ] a— A4
A DA K BlfiE 2 — R
F5k HH O&RH (%550 ] Y 1502m
T 4=y a s 1213m
ks & d=bry wo B [Z5] 2 289m
AREBHS— 3 No. SAJ22-GS-51/91
1A4H B 2 K H
aA— ATy H— wlE HE [Z5] a— ATy H— NI T —RR
ISR - A - AiE HiEHE - A - i
ISR - B - K- ISR - B - KW
iR - C - P iR - C - A
TP % 39 (39) 2 — R 8:45 % 39 (39) 2 — R 11:40
KA EBN =8 Hard PN EBN =8 Hard
A=K7 4=y v a iR -2.8C / -1.5C AB—F/T7 4=y 2R 4.6°C / 6.7°C
F=880
NEAL AR=h =N B - 1K 2A&AH & 7 1—x
No No K4 B 4 B B 4 1L L I 5 H# B RA b
1 50 74475 B R A 1 A%- 1:13.73 1:15.87 2:29.60
2 60 52421 H L BT N NS % 1:1456 1:16.79 2:31.35
3 58 30406 AR BT = AN 1:16.21 1:17.15 2:33.36
4 54 89592 BN AKET = AT Ty 1:17.24 1:18.72 2:35.96
5 51 83632 ZHE  FET = H < ESC 1:17.42 1:18.97 2:36.39
6 52 39156 L& i) R AV 1:18.33 1:20.28 2:38.61
7 53 98806  BFH: 7 = v 1:18.41 1:21.68 2:40.09
8 56 89878 Ky = = 20779 1:19.66 1:22.18 2:41.84
9 55 86197 /NMIE A gl VAP 1:20.53 1:22.19 2:42.72
10 57 112299 i&EQO (MZE gl TR 7TV 1:21.25 1:22.28 2:43.53
11 61 890669 M & = TE 7V 1:24.26 1:26.38 2:50.64
12 59 872629 EH Hf A By 1:27.03 1:32.17 2:59.20
DID NOT START [1st RUN] 0
27-03-2010 / IZB DX YR F— G8/ 1

DATA PROCESSING by SE I KO

TIMING by SET KO



TV LA TS
FHERARA L —A

MRt B2 Wk g (L v
1135 LA b
F=880

JERE A5=b -b B 1AH 2AKH & F b—2=A
No No KA B 4 BB 4 I I 5 I 3 s A GV

DID NOT FINISH  [lst RUN] 0

DISQUALIFIED [1st RUN] 0

DID NOT START [2nd RUN] 0

DID NOT FINISH  [2nd RUN] 0

DISQUALIFIED [2nd RUN] 0

27-03-2010 / 1 FB DX F A X —F

G8/ 2

DATA PROCESSING by SE I KO

TIMING by SET KO



TV LA TS
FHERARA L —A

M7 B R vy 1L
25504 B PNELR
Tal— T =N T—H
iz (ERE T (R B ] a— A4
A DA K BlfiE 2 — R
F5k HH O&RH (%550 ] Y 1502m
T 4=y a s 1213m
ks & d=bry wo B [Z5] 2 289m
AREBHS— 3 No. SAJ22-GS-51/91
1A4H B 2 K H
aA— ATy H— wlE HE [Z5] a— ATy H— NI T —RR
ISR - A - papiel ISR - A - fHiE
ISR - B - K- ISR - B - KW
iR - C - P iR - C - A
TR 39 (39) 2K — R 8:45 % 39 (39) 2K — R 11:40
KA EBN =8 Hard PN EBN =8 Hard
2B —K/T 4=y a kiR -2.8C / -1.5C 2B —K/T 4=y a kiR 4.6°C / 6.7C
F=880
NERE Ap=b =N B 1K 2A&AH & 7 1—x
No No K4 B 4 B B 4 1L L I 5 Héf ] AA 2k
1 64 138793 ¥ M R0 MOST 1:22.65 1:24.58 2:47.23
2 62 54319  HJI|  #EAE 5N thH A% 1:26.97 1:25.52 2:52.49
3 63 111565 f@Q FE#H R HE A% 1:24.33 1:31.19 2:55.52
4 65 I /N B - 5N 1B Tk 1:26.93 1:29.42 2:56.35
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
27-03-2010 / IZB DX YR F— G8/ 1

DATA PROCESSING by SE I KO

TIMING by SET KO



TV LA TS
FHERARA L —A

M7 B R vy 1L
1255 0
F=880
NEAL AR= =N B 1K 2A&AH & 7 1—x
No No K4 B 4 B B 4 Be R OB R B R AA2 b
DISQUALIFIED [2nd RUN] 0

27-03-2010 / 1 FB DX F A X —F
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DATA PROCESSING by SE I KO

TIMING by SET KO



TV LA TS
FHERARA L —A

M7 B R vy 1L
190 B NEILIR
N FR
Sy T EANT —H
iz (ERE T (R B ] a— A4
A DA K BlfiE 2 — R
F5k HH O&RH (%550 ] Y 1502m
T 4= Hi s 1213m
ks & d=bry wo B [Z5] o0 289m
AREBHS— 3 No. SAJ22-GS-51/91
1A4H B 2 K H
aA— ATy H— wlE HE [Z5] a— ATy H— NI T —RR
ISR - A - papiel ISR - A - Pap:E)
ISR - B - K- ISR - B - KW
iR - C - P iR - C - A
TR 39 (39) A A — IR 8:45 % 39 (39) 2 — IR 11:40
KA EBN =8 Hard PN EBN =8 Hard
2B —K/T 4=y a kiR -2.8C / -1.5C 2B —K/T 4=y a kiR 4.6°C / 6.7C
F=880
NEAT Ag—b =N B 1K 2A&AH & 7 1—x
No No K4 B 4 B B 4 1L L I 5 H%E ] AA 2k
1 66 180573 HH T N ESL 1:14.32 1:16.10 2:30.42
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
27-03-2010 / IZB DX YR F— G8/ 1

DATA PROCESSING by SE I KO TIMING by SET KO



